THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE “CRACKER" ‘ DESIGNED BY: ERNEST GLASER ‘ ONWORPEN DOOR: ERNEST GLASER ‘ CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY J.AMM. DE WAAL)

TITLE JDW DRAUGHTING SERVICES [0RAWNEY PROJECTION DRAWING NUMBER SHEET
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE "CRACKER" PAPAKLURA NEW ZEALAND DJMAEM * WAALS(ALE @%(gﬁgACKER Rgo
A3 GENERAI— ARRANGEMENT RAEV ‘SSUE[[J)EFSOCRR\(POTN\;IRUU‘ON DATE E—Eh&ﬁfﬁegggf@gﬁ;gigsnsgs JULY 2009 1\15 SﬂBWN A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.A.M.DE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

aTy. PART NUMBER
CRACKER-01-RUNNING PLATE
CRACKER-02-BUFFERBEAM
CRACKER-03-BUFFER
CRACKER-04-SIDE FRAME
CRACKER-05-WHEEL BEARING
CRACKER-06-CRANK SHAFT BEARING
CRACKER-07-PORT BLOCK
CRACKER-08-CRANKSHAFT
CRACKER-09-FLYWHEEL
CRACKER-10-SMALL GEAR WHEEL
CRACKER-11-LARGE GEAR WHEEL IDLER
CRACKER-12-LARGE GEAR WHEEL
CRACKER-13-WHEELS AND AXLE
CRACKER-14-PISTON
CRACKER-15-CYLINDER
CRACKER-16-CYLINDER LID
CRACKER-17-BOILER
CRACKER-18-BOILER ENDS
CRACKER-19-SMOKE BOX DOOR SURROUND
CRACKER-20-SMOKE BOX DOOR
CRACKER-21-STEAM DOME
CRACKER-22-SMOKE BOX SADDLE
CRACKER-23-BOILER SADDLE
CRACKER-24-CHIMNEY SURROUND
CRACKER-25-STEAM DOME COVER
CRACKER-26-CAB

CRACKER-27-CAB WINDOWS
CRACKER-28-FILLER LID
CRACKER-29-STEAM DOME VALVE
CRACKER-30-STEAM VALVE O-RING
CRACKER-31-STEAM SUPPLY LINE
CRACKER-32-STEAM EXHAUST LINE
CRACKER-33-SPRING
CRACKER-40-BURNER TUBE
CRACKER-41-BURNER TUBE CAP
CRACKER-42-BURNER TUBE RING
CRACKER-43-JET-ORIFICE
CRACKER-44-BURNER TUBE COVER
CRACKER-60-GASTANK BODY
CRACKER-61-GASTANK TOP LID
CRACKER-62-GASTANK BOTTOM LID
CRACKER-63-GASTANK CONTROL VALVE BODY
CRACKER-64-GASTANK CONTROL VALVE
CRACKER-65-GASTANK RETAINER NUT
CRACKER-66-GASTANK 0-RING
CRACKER-67-GASTANK SUPPLY HOSE
CRACKER-M2x5.2 COUNTERSINK SCREW
CRACKER-M3 NUT

CRACKER-M3 WASHER
CRACKER-M3x10 CHEESEHEAD SCREW
CRACKER-M3x5 COUNTERSINK SCREW
CRACKER-M3x8 CHEESEHEAD SCREW
CRACKER-M3x8 COUNTERSINK SCREW
CRACKER-M5x20 COUNTERSINK SCREW
LGB RAIL CODE 338

[ =

ANl o aalalalalalalalalalalalalalalalalalalN|alalalalajlalalalalalalalalN|N]|alalalalalalaon NI N —

STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE “CRACKER" ‘ DESIGNED BY: ERNEST GLASER ‘ ONWORPEN DOOR: ERNEST GLASER ‘ CONVERTED FROM O-SCALE (32mm) TO G-SCALE (45mm) BY J.AM. DE WAAL)

TITLE JDW DRAUGHTING SERVICES DRAWN BY PROJECTION DRAWING NUMBER SHEET
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE “CRACKER” B SNGTNL STREET A OE WAL (5 CRACKER 01
A3| ISOMETRIC VIEWS AND BILL OF MATERIALS T e WAL dewaal@xtraconz. | VY 2009 |55 sfiown A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

59.5
56
18
1% 21
20 48 . 9
:
1
N
D —%J& e
& %
< ‘/®/4 T ?\7
g . . . . . . . © 155 155 —
m —
N  3mm 10PLACES ooT et vt —_— : s
o g s L] N s = 0 S O R /Y
e S a—y ¥ =
1 C'SINK (9 5.5mm 4PLACES M3 M3 - MR
- 42 42 19 03
3
1 I - - - - - O @ 05 DRILL & TAP M3x10DEEP ¢ Ll _ Q255
o A Q = BOTH ENDS\ 22 P ] .
. . S TT AR T NERL S a =]
g $ : == o O T el
) -—0 wn | B N1 i |
N e ‘ ‘ ‘ : ‘ MATERIAL: (9225 BRASS
| MATERIAL: 14mmx14mm SQ BRASS _ 12 _ 1
55.5 56
‘ ‘ 2 03 -3
167 \;D | 19 .
. N —— m
MATERIAL: 1.5mm BRASS PLATE m‘f == press fir a
6 6 P88 _ i o — = = —
72 12 G @5 ., MAT: BRASS & STEEL
n m PRESS FIT 4
?'3 LPLACES ONTO PART 08— | 235 ~ 80 S A)ofiﬂ
! Z=10 M=1 </’ﬂ\> a — ‘
H‘L e j BJ—Q ot 4 =~ 35 Z‘r‘k
0 - () — 1 & w._ /7 R -
« 0 85 85 3 /- Wl .35
1 | i i = \. SN
- / 9 LPLACES ] o
i L F o i N T 1 avasia | s
pRIRLE AR () % RENIRS i 05 55 SEi s a= ey &R I B S zacz
* G T ey S S IAZAL)T T
N SECTION A-A MAT: BRASS | . A
| | L4y SCALE 2:1 / IgrE
Q:\Y’ %# s 3 8 | e \\\ U o / ] i
3 3 SOLDER | I e Sl A
MATERIAL: 1.5mm BRASS PLATE ki@ Fa=ss : MAT: STEEL  |= B SECTION B-B
&N @24 PCD
SOLDER- [ o
° 38.5
\ALL PRESS FIT
ONTO SHAFT
MAT: BRASS & STEEL SHAFT
MAT: BRONZE MAT. BRONZE MAT: BRASS & BRONZE Z=40 M=1 TEETH TO MATCH PART 10
STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE "CRACKER” | DESIGNED BY: ERNEST GLASER | ONWORPEN DOOR: ERNEST GLASER | CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY JAM. DE WAAL)
TITLE JDW DRAUGHT'NG SERV'CES jRAAW:4BYDE WAALPROJECT\ON DRAWING NUMBER SHEET
" " 12 BRIGHTWELL STREET  |J.AM.
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE "CRACKER PAPAKURA NEW ZE ALAND @ (RACKER |02
A3 COMPONENTS/PARTS A | ISSUED FOR CONSTRUCTION TEL/FAX 0064-09-2988815 DATEJULY 2009 A1 or CADFILE REV
REV DESCRIPTION pare|E-MAIL:dewaal@xtra.co.nz AS SHOWN

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

? 365 \ 21 |-
D27 ' AN - i '
D12 . Bk A . o ™ m |
P10 v '; & UFS | [T SILVER SOLDER

LS ‘ i ¥y o il I i

L "~
v ! :' o, . /) 4‘» ‘ ‘ ‘ (_‘
. ) & - w| |-

]

|
B2il.
10.30

10

o
© m
N
Z_PRESS FIT \ Js<i on
Sei0 Mot ONTO PART 13 B ! X P
TEETH TO MATCH @18 MAT: STEEL 15 p
PART 10 11 .
MAT: BRASS | @ SECTION D-D
LT = =
# : ‘ I |
sy = < A, 20 20 |t 1 | | u
*J:E:’ T 20 PCD 45 TRACK GAUGE . 3 i
F F N !
28.5 28.5 Nl —
Mo (2 34 3 ‘ S
m| 3 T ‘ I
‘ MAT: STEEL AXLE, WHEELS STEEL OR BRASS 1 | i ;
s AN 5 . -
jES: S —pis oA | ey |
m. S E? ~ 30 RS S &, =28
S N N 3 o
i ‘ o~ N
D85 MAT: BRASS /\LZ N B k2 | SR D11 )
M11 ‘ J; 3 } | MAT: BRASS
SECTION F-F ; 42 i ‘ ‘ ] < [
DRILL & TAP M3 ON § ‘_[ | | 4
. ~— 1~ T -
MAT: PERTINAX 1lmm THICK | | MAT: BRASS 2 STEEL
96
T
7
T —————1
|
| -
| | SILVER SOLDER INTO BOILER—__
|
| ——
| 6.5 E 14
SILVER SOLDER— | _~SILVER SOLDER | _—t
~ | _ _ _ — — =+ T T T
S} S 1 I (P jiz- S | | | |
} T ! o~ } \ } [
| N | | = ! ! ! !
o o I . . - M- 1 | i i
| |
SRS | | | 3 | 3 SILVER SOLDER «n
777777777777777777777777777777777777777777 777 | |
Eeee | | | | L4S 235
} | i ﬁ } j | |
T T T T T — 1 | (LI iy | Y A 1B
,::::]\J7L777I u\::::ul 77777777 77&:&&77 _ ‘L@m’i‘% N T = ‘%:EE‘P:EJ:]%A = 'ﬁfflf:%A -4
m M1 M8 m 18
D D 14 DN
) ) ) 0y Sk ) ) ) ) ) )
7 2le
14 |
TT@
777777777777777777777777777777777777777777777777777777 T; [ 1 Ji T ‘ |
MAT: BRASS & COPPER o o R L 28 .
STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE "CRACKER” | DESIGNED BY: ERNEST GLASER | ONWORPEN DOOR: ERNEST GLASER | CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY JAM. DE WAAL)
TITLE JDW DRAUGHT'NG SERV'CES jRAAW:;iYDE WAALPROJECT\ON DRAWING NUMBER SHEET
" " 12 BRIGHTWELL STREET AM.
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE "CRACKER S e 2 EAND &) £ (RACKER |03
A3 COMPONENTS/PARTS A | ISSUED FOR CONSTRUCTION TEL/FAX 0064-09-2988815 DATEJULY 2009 S or CADTIE REVA
REV DESCRIPTION oate | E-MAIL:dewaal@xtra.co.nz AS SHOWN

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



1.5

THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

29.15

MAT: TEFLON
™
5 COMPRESSED
| ID=4mm
6 COILS
UNCOMPRESSED
LENGHT=7mm
MAT: ) 0.5mm
SPRING STEEL
SCALE 2:1
SECTION G-G
SOLDER TO BOILER- /= oo rce

SOLDER TO SMOKE BOX D9

MAT: BRASS Y/
J
V= =
| 4 %
= | Ros
~N ” . N —
1 @ m o
» 4o o |

12

[ Wﬁiiirii; 777777777777 _
| | ‘
w W\) :/ 1 7\/ | o ‘ oy 1% DETAIL K
NG —— =) M8 ) SECTION J-J SCALE 2:1
N MAT: BRASS B85
m| ~ I I A A .
‘ D3 CSINKD55 - j‘
4 PLACES SOLDER INTO [ gﬁﬁgfﬁARENT 17
- PART 26 SECTION I-I E;
| Y \ L] _ iffi _ _ |

ASSEMBLY 104

M3 WASHER

MAT: 1'mm BRASS PLATE

STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE “CRACKER" ‘ DESIGNED BY: ERNEST GLASER

‘ ONWORPEN DOOR: ERNEST GLASER ‘ CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY J.AMM. DE WAAL)

SHEET

A3

TITLE

STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE “"CRACKER"
COMPONENTS/PARTS & EXPLODED VIEWS

A ISSUED FOR CONSTRUCTION

REV DESCRIPTION

DATE

JDW DRAUGHTING SERVICES
12 BRIGHTWELL STREET
PAPAKURA NEW ZEALAND
TEL/FAX 0064-09-2988815
E-MAIL:dewaal@xtra.co.nz

DRAWN BY

JAM. DE WAAL

PROJECTION

@

DRAWING NUMBER

CRACKER

04

DATE

JULY 2009

A or
AS SHOWN

CAD FILE

REV

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm

DO NOT SCALE OF DRAWING

REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

M3 WASHER
M3x8

ASSEMBLY 110

ASSEMBLY 108

ASSEMBLY 105

'I_"
J_IJ

ASSEMBLY 109

ASSEMBLY 108

STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE “CRACKER" ‘ DESIGNED BY: ERNEST GLASER ‘ ONWORPEN DOOR: ERNEST GLASER ‘ CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY J.AMM. DE WAAL)

TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE "CRACKER" L SR Ty A DE WAL o CRACKER | 05

DATE SCALE 4, CAD FILE REV

A3] EXPLODED VIEWS e WAL dewsal@xtratons | ULY 2009 | K sfioun A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

ary. PART NUMBER
(RACKER=-60-GASTANK
CRACKER-61-GASTANK
CRACKER-62-GASTANK
CRACKER-63-GASTANK
CRACKER-64-GASTANK
CRACKER-65-GASTANK
CRACKER-66-GASTANK
| 122 ©205 D31
=
106 — THRU
62 |
l'.\
ss)| | oX
SRR 7 PN = e
_ _ _ _ N N A
| 0
I O — | ]
15 12 SLOTS 1.5mm WIDE 4mm APART 9
MAT: BRASS
®) : PRESS FIT & 73 335
1 SOLDER INTO PRESS FIT & 12.5 D15
) PART 40 8.5 SILVER SOLDER
. - N ONTO PART 60 p——Y
ol e W w7777 < PREss FIT-A|
1 7 = 2
o T
MAT: BRASS A TA MAT: BRASS
M5 | || | (6D
PRESS FIT &
SOLDER INTO

[ PART 40

MAT: BRASS

D1
028
MAT: BRASS
D1 -
J——

= L 6] LPRESS FIT &
= = .4 H SILVER SOLDER
t | ONTO PART 60 MAT: RUBBER
| = B N ] mm THICK
= | < | I A
° NN
Q& DN
K 28
D 31
, PRESS FIT &
MAT: BRASS SILVER SOLDER
165 31 ONTO PART 60
g \ D2 / !
NS GF’ 7 =
< e T ——— —
OTY'C ACKER-40 %BEJE%M?EEE ;!
CRACKER-41-BURNER TUBE CAP MAT: BRASS 225
CRACKER-42-BURNER TUBE RING 28
CRACKER-L3-JE T-ORIFICE MAT: PLASTIC HOSE
(RACKER-LL4-BURNER TUBF COVER
STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE "CRACKER” | DESIGNED BY: ERNEST GLASER | ONWORPEN DOOR: ERNEST GLASER | CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY JAM. DE WAAL)
TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE "CRACKER" 12 BRIGHTWELL STREET = |JAM DE WAAL (o) F—— CRACKER |06
DATE SCALE 4, CAD FILE REV
A3/ GAS BURNER & GASTANK PARTS & ASSEMBLIES e A ey | ULY 2009 | KL B A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

SECTION A-A
SCALE 1: 11

SECTION B-B
SCALE 1: 11

STOOM LOKOMOTIEF MET OSCILLERENDE STOOMMACINE “CRACKER" ‘ DESIGNED BY: ERNEST GLASER ‘ ONWORPEN DOOR: ERNEST GLASER ‘ CONVERTED FROM 0-SCALE (32mm) TO G-SCALE (45mm) BY J.AMM. DE WAAL)

TITLE JDW DRAUGHTING SERVICES [0RAWNEY PROJECTION DRAWING NUMBER SHEET
STEAM LOCOMOTIVE WITH OSCILATING STEAM ENGINE "CRACKER" PAPAKLURA NEW ZEALAND DJMAEM * WAALS(ALE @%(AEiACKER Rg7
A3 GENERAI— ARRANGEMENT RAEV ‘SSUE[[J)EFSOCRR\(POTN\;IRUU‘ON DATE E—Eh&ﬁfﬁegggf@gﬁ;gigsnsgs JULY 2009 1\15 SﬂBWN A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



	Sheet-00
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet-01
	Drawing View18
	Drawing View19

	Sheet-02
	Drawing View20
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View48
	Drawing View49
	Section View A-A
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Section View B-B
	Drawing View57
	Drawing View58
	Drawing View59
	Drawing View62
	Drawing View63
	Drawing View64

	Sheet-03
	Drawing View67
	Drawing View69
	Drawing View70
	Drawing View71
	Drawing View72
	Detail View C (2 : 1)
	Drawing View74
	Drawing View75
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82
	Section View D-D
	Drawing View85
	Drawing View86
	Drawing View87
	Drawing View88
	Drawing View90
	Section View E-E
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View97
	Drawing View98
	Drawing View100
	Drawing View104
	Drawing View106
	Section View F-F
	Drawing View108
	Drawing View112
	Drawing View113
	Drawing View115
	Drawing View116
	Drawing View117

	Sheet-04
	Drawing View109
	Drawing View110
	Drawing View111
	Drawing View118
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View126
	Drawing View127
	Section View G-G
	Drawing View129
	Drawing View130
	Drawing View132
	Drawing View134
	Drawing View136
	Drawing View137
	Section View I-I
	Drawing View139
	Drawing View140
	Drawing View141
	Drawing View142
	Drawing View143
	Section View J-J
	Detail View K (2 : 1)
	Drawing View146
	Drawing View149
	Detail View M (4 : 1)
	Drawing View151
	Drawing View152
	Drawing View153
	Drawing View154
	Drawing View155
	Drawing View156
	Drawing View157
	Drawing View158
	Drawing View159
	Drawing View161
	Drawing View162
	Drawing View167
	Drawing View168

	Sheet-05
	Drawing View163
	Drawing View164
	Drawing View165
	Drawing View166
	Drawing View169
	Drawing View170
	Drawing View171
	Drawing View172
	Drawing View173

	Sheet-06
	Drawing View183
	Drawing View184
	Drawing View185
	Drawing View186
	Drawing View187
	Drawing View188
	Drawing View189
	Drawing View190
	Drawing View191
	Drawing View192
	Drawing View193
	Drawing View194
	Drawing View195
	Drawing View196
	Drawing View197
	Drawing View198
	Drawing View199
	Drawing View200
	Drawing View201
	Drawing View202
	Drawing View205
	Drawing View206
	Drawing View207
	Drawing View208
	Drawing View209
	Drawing View211
	Drawing View212
	Drawing View216
	Drawing View218
	Drawing View219
	Drawing View220
	Drawing View221
	Drawing View222
	Drawing View223
	Drawing View224
	Drawing View225
	Drawing View226
	Drawing View227

	Sheet-00
	Drawing View2
	Section View A-A
	Section View B-B


